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44 66 6 2 14 14 REE - 14 - A #3 - Y - HEE22 [J
45 66 6 2 19 19 REE - 16 - A #3 - Y - HEE22 [J
46 66 6 2 38 38 REE — 37 — A #3 — Y — HF22,3%107 [ ]
47 66 6 2 16 16 A8 - 13 - A #3 - Y - H%22,%107,108 [J
47 66 22 1 4 4 REE 0 - - A #3 - fY - H%22,%107,108
48 I EER 66 6 3 42 42 A8 - 35 - A #3 - Y - #7722,;%107,108,109 |@
48 #EEER 66 22 1 9 9 REE -6 - - A #3 - Y - #7722,;3%107,108,109
49 EEM 66 6 2 28 28 A8 - 18 - A #3 - Y - HEE22 [J
49 5 66 22 1 4 4 REE 0 - - A #3 - fY - HE22
50 66 6 2 38 38 REE - 34 - A #3 - fY - Hix7 [J
50 66 22 1 4 4 REE -6 - - A #3 - fY - Hix7
51 AALEER 66 6 1 9 9 REE — 5 — A #3 — Y — Hix7 [ ]
52 EHEER 66 6 3 38 38 A8 - 35 - A #3 - Y - Hix7 [J
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53 66 6 2 33 33 REE - 22 - A #3 - Y - Hix7 [J
53 66 22 1 — - REE - = - = - Y - Hix7 <
54 66 6 2 33 33 A8 - 20 - A #3 - Y - Hix7 [J
54 66 22 1 — - REE - = - = - Y - Hix7 <
55 66 6 2 38 38 A8 - 38 - A #3 - Y - Hix7 [J
56 66 6 3 30 30 REE - 29 - A #3 - Y - Hix7 [J
56 66 22 2 28 185 REE 0 14 - oA #3 — Y — Hix7

57 66 6 2 28 28 REE - 28 - A #3 - Y - Hix7 [J
58 66 6 2 33 33 REE - 33 - A #3 - Y - Hix7 [J
58 66 22 1 — - REE - = - = - Y - Hix17 <
59 66 6 2 28 28 A8 - 23 - A #3 - Y - Hix7 [J
59 66 22 1 9 9 A8 0 - - A #3 - fY - Hix7

60 Bl 22 6 1 9 9 BEE = 5 - A #3 = HY = %17 °
61 USHEER 66 6 3 47 47 A8 — 37 — AE] #3 — Y - Hix7 [J
61 USHEBR 66 22 1 - - REE - - - - - #Y - HiEk17 <
62 EZNE 66 6 2 28 28 BEE — 24 — ] #3 — Y — HiE17 [
62 EzN 66 22 1 — — REE - = - = - Y - Hix7 <&
63 PEEEM 66 6 2 33 33 REE - 26 - A #3 - Y - Hix7 [J
63 PHEEH 66 22 1 — — REE - = - = - Y - Hix7 <
64 E 66 6 3 47 47 REE — 35 — A #3 — — - = [ ]
64 66 22 1 — - REE - = - = - - - - <
65 66 6 3 47 47 REE — 38 — oA #3 — — - = [ ]
66 66 6 3 47 47 A8 — 47 — oA #3 — — - = [ ]
67 66 6 2 33 33 REE — 22 — oA #3 — — - = [ ]
67 66 22 1 — - REE - = - = - - - - <
68 66 6 2 28 28 REE - 14 - A #3 - Y - %174 [
68 66 22 2 15 55 REE 0 - - A #3 - fY - %174

70 66 6 3 47 47 REE — 41 — oA #3 — — - = [ ]
70 SARETEER 66 22 1 — - REE - = - = - - - - <
71 NIZiT 66 6 3 47 47 A8 — 46 — oA #3 — — - = [ ]
71 N2 ITEER 66 22 1 16 16 A8 0 — — Al #3 - - - -

72 EEM 66 6 1 4 4 REE - 4 - A #3 - - - - [J
73 E 66 6 3 57 57 REE — 52 — oA #3 — — - = [ ]
74 66 6 3 42 42 REE — 39 — oA #3 — — - = [ ]
75 66 6 1 4 4 REE — 4 — oA #3 — — - = [ ]
75 66 22 1 — - REE - = - = - - - - <
76 7 66 6 1 7 7 REE - 3 - A #3 - Y - & E0i%33,34 [J
77 FERBIIEER 66 6 1 1 1 A8 - 1 - A #3 - Y - & E0i%33,34 [J
78 FBEEE 22 6 2 5 5 RE2 — 1 1 A #3 — — - - [
79 BEBEREE 22 6 1 5 5 BEE = 5 5 A #3 - - - - [
80 FHBEEE 22 6 1 4 4 nEg — 0 0 ] #3 - Y - #7722,;%107,108 [
81 —AEREE 22 6 1 5 5 REE - 0 0 T #3 - Y - #7722,3%107,108,109,112 | @
82 —AME_REE 22 6 1 5 5 REE - 0 0 T #3 - Y - #7722,3%107,108,109,112 | @




